ΛΥΣΗ 1

ΠΡΟΓΡΑΜΜΑ ΜΑΧ1
ΜΕΤΑΒΛΗΤΕΣ
  ΑΚΕΡΑΙΕΣ: Α, Β, Γ, ΜΑΧ
ΑΡΧΗ
  ΓΡΑΨΕ 'Δώσε 3 ακέραιους αριθμούς'
  ΔΙΑΒΑΣΕ Α, Β, Γ
  ΜΑΧ <- Α
  ΑΝ Β > ΜΑΧ ΤΟΤΕ
    ΜΑΧ <- Β
  ΑΛΛΙΩΣ
    ΑΝ Γ > ΜΑΧ ΤΟΤΕ
      ΜΑΧ <- Γ
    ΤΕΛΟΣ_ΑΝ
  ΤΕΛΟΣ_ΑΝ
  ΓΡΑΨΕ ' Ο Μεγαλύτερος είναι : ', ΜΑΧ
ΤΕΛΟΣ_ΠΡΟΓΡΑΜΜΑΤΟΣ
ΛΥΣΗ 2

ΠΡΟΓΡΑΜΜΑ ΜΑΧ2
ΜΕΤΑΒΛΗΤΕΣ
  ΑΚΕΡΑΙΕΣ: Α, Β, Γ, ΜΑΧ
ΑΡΧΗ
  ΓΡΑΨΕ 'Δώσε 3 ακέραιους αριθμούς'
  ΔΙΑΒΑΣΕ Α, Β, Γ
  ΜΑΧ <- Α
  ΑΝ Β > ΜΑΧ ΤΟΤΕ
    ΜΑΧ <- Β
  ΤΕΛΟΣ_ΑΝ
  ΑΝ Γ > ΜΑΧ ΤΟΤΕ
    ΜΑΧ <- Γ
  ΤΕΛΟΣ_ΑΝ
  ΓΡΑΨΕ ' Ο Μεγαλύτερος είναι : ', ΜΑΧ
ΤΕΛΟΣ_ΠΡΟΓΡΑΜΜΑΤΟΣ
